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•••• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 16 rFkk iz'u 52 gSaA  
 Please make sure that the printed pages in this question paper are 16 in number 

and it contains 52 questions. 
•••• iz'u-i= esa lcls Åij fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 
 The Code No. on the top of the question paper should be written by the candidate 

on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 
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•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k % 

General Instructions : 

    (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

  All questions are compulsory. 

 (ii) lHkh iz'uksa ds vad muds lkeus n'kkZ, x, gSaA 

  Marks of all the questions are shown against them. 

 (iii) iz'u ds lHkh Hkkxksa ds mÙkj ,d LFkku ij lkFk&lkFk nhft,A 

  Attempt all parts of a question together. 

 (iv) 1 vad okys izR;sd iz'u dk mÙkj ,d ,d ,d ,d okD; ls vf/kd u gksA cgqfodYih; iz'uksa ds mÙkj lghlghlghlgh 
fodYi pqudj nhft,A fjDu LFkkuksa dh iwfrZ dhft,A 

  Answer to each question carrying 1 mark should not exceed more than one 

sentence. Answer the multiple choice questions by selecting correct option. 

Fill in the blanks. 

 (v) 2 vadksa okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u gksA 

  Answer to each question carrying 2 marks should not exceed 30 words. 

 (vi) 3 vadksa okys izR;sd iz'u dk mÙkj 40 ls 60 'kCnksa ls vf/kd u gksA 

  Answer to each question carrying 3 marks should not exceed 40 to 60 

words. 

 (vii) 5 vadksa okys izR;sd iz'u dk mÙkj 100 ls 125 'kCnksa ls vf/kd u gksA 

  Answer to each question carrying 5 marks should not exceed 100 to 125 

words. 
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 [    bfrgklbfrgklbfrgklbfrgkl    ] 

   [ HISTORY ] [ M. M. : 15 

1. yqbZ XVI ds jkT;kjksg.k ds le; Ýkal dh vkfFkZd fLFkfr dSlh Fkh \ 5 

What was the economic condition of France during the accession of Louis XVI ? 

2. :lh fdlku ;wjksi ds ckdh fdlkukas ds eqdkcys dSls fHkUu Fks \ 2 

In what ways Russian peasants were different from other European peasants ? 

fuEufyf[kr iz'ukas ds mÙkj ,d 'kCn@okD; eas nhft, %fuEufyf[kr iz'ukas ds mÙkj ,d 'kCn@okD; eas nhft, %fuEufyf[kr iz'ukas ds mÙkj ,d 'kCn@okD; eas nhft, %fuEufyf[kr iz'ukas ds mÙkj ,d 'kCn@okD; eas nhft, %    
Answer in one word/sentence : 

3. 1917 bZ0 eas :l dk lezkV~ dkSu Fkk \ 1 

Who was the king of Russia in 1917 ? 

4. tkjhuk vysDlkanzk dkSu Fkh \ 1 

Who was Tsarina Alexandra ? 

[kkyh LFkku dks Hkf[kkyh LFkku dks Hkf[kkyh LFkku dks Hkf[kkyh LFkku dks Hkfj, %j, %j, %j, %    
Fill in the blanks : 

5. dkWfeUVuZ dk xBu ---------- bZ0 eas gqvk FkkA 1 

In .......... A.D. Comintern was formed. 

6. olkZ; dh laf/k ---------- ds fy, viekutud FkhA 1 

Treaty of Versailles was humiliating for .............. . 

cgqfodYih; iz'u %cgqfodYih; iz'u %cgqfodYih; iz'u %cgqfodYih; iz'u %    
Multiple choice questions : 

7. buesa ls dkSu&lk ns'k fe= jk"Vªksa esa 'kkfey ughaughaughaugha Fkk \ 1 

(A) Ýkal   (B) fczVsu 
(C) tkiku  (D) vesfjdk 
Which one was not a member of Allied Powers ? 

(A) France (B) Britain 

(C) Japan (D) America 
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8. teZuh dh jkt/kkuh dgk¡ gS \ 1 

(A) cfyZu   

(B) isfjl 

(C) jkse   

(D) Vksfd;ks 

Where is the Capital of Germany ? 

(A) Berlin  

(B) Paris 

(C) Rome  

(D) Tokyo 

9. okWy LVªhV ,Dlpsat ¼'ks;j cktkj½ fdl ns'k eas gS \ 1 

(A) :l   

(B) vesfjdk 

(C) Ýkal   

(D) teZuh 

Where is 'Wall Street Exchange' located ? 

(A) Russia  

(B) America 

(C) France  

(D) Germany 
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10. ^ukth ;wFk yhx* dk xBu dc gqvk Fkk \ 1 

(A) 1919 bZ0 esa (B) 1920 bZ0 esa 

(C) 1921 bZ0 esa (D) 1922 bZ0 esa 

When 'The Youth League of Nazis' was founded ? 

(A) In 1919 AD (B) In 1920 AD 

(C) In 1921 AD (D) In 1922 AD 

[    jktuhfr foKkujktuhfr foKkujktuhfr foKkujktuhfr foKku    ] 

   [ POLITICAL SCIENCE ] [ M. M. : 25 

11. yksdra= ds i{k eas dqN rdZ nhft,A 5 

Give some arguments in favour of Democracy. 

12. MkW0 Hkhejko jketh vEcsMdj dkSu Fks \ 3 

Who was Dr. Bhimrao Ramji Ambedkar ? 

13. gekjs fy, pquko vko';d D;ksa gS \ 3 

Why do we need Election ? 

14. eaMy vk;ksx ds ckjs eas vki D;k tkurs gSa \ 2 

What do you know about Mandal Commission ? 

fuEufyf[kr iz'ukas ds mÙkj ,d 'kCn@okD; eas nhft;s %fuEufyf[kr iz'ukas ds mÙkj ,d 'kCn@okD; eas nhft;s %fuEufyf[kr iz'ukas ds mÙkj ,d 'kCn@okD; eas nhft;s %fuEufyf[kr iz'ukas ds mÙkj ,d 'kCn@okD; eas nhft;s %    
Give answer in one word/sentence : 

15. fiuks'ks dgk¡ ds jk"Vªifr Fks \ 1 

Pinochet was the President of which country ? 
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16. nf{k.k vÝhdk dc ,d yksdrkaf=d ns'k cuk \ 1 

When South Africa became a democratic country ? 

17. 1931 eas Hkkjrh; jk"Vªh; dkaxzsl dk vf/kos'ku dgk¡ gqvk Fkk \ 1 

Where was the Session of Indian National Congress held in 1931 ? 

18. ^;ax bafM;k* uked if=dk ds laiknd dkSu Fks \ 1 

Who was the Editor of 'Young India' magazine ? 

[kkyh LFkku Hkfj;s %[kkyh LFkku Hkfj;s %[kkyh LFkku Hkfj;s %[kkyh LFkku Hkfj;s %    
Fill in the blanks : 

19. .............. lafo/kku lHkk ds v/;{k Fks \ 1 

.............. was the President of Constituent Assembly. 

20. gfj;k.kk fo/kku lHkk eas dqy .............. fo/kku lHkk {ks= gSaA 1 

There are total .............. Constituency in Haryana Assembly. 

21. Hkkjr esa .............. o"kZ dh mez eas gh dksbZ O;fDr oksV Mkyus dk vf/kdkjh gks tkrk gSA 1 

In India all the Citizens aged .............. years can vote in an election. 

cgqfodYih; iz'u %cgqfodYih; iz'u %cgqfodYih; iz'u %cgqfodYih; iz'u %    
Multiple choice questions : 

22. 1977 esa fdl ikVhZ us ^yksdra= cpko* dk ukjk fn;k Fkk \ 1 

(A) dk¡xzsl  (B) Hkkjrh; turk ikVhZ 

(C) turk ikVhZ (D) dE;qfuLV ikVhZ 

In 1977, which party given the slogan 'Save Democracy' ? 

(A) Congress (B) BJP 

(C) Janata Party (D) Communist Party 
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23. Hkkjr ljdkj us dc ^dk;kZy; Kkiu* vkns'k tkjh fd;k Fkk \ 1 

(A) 4 twu] 1989 dks  

(B) 13 vxLr] 1990 dks 

(C) 5 uoEcj] 1991  

(D) 10 fnlEcj] 1992 dks 

When the Government of India issued an order, called 'Office Memorandum' ? 

(A) 4 June, 1989  

(B) 13 August, 1990 

(C) 5 November, 1991  

(D) 10 December, 1992 

24. fdl lHkk dks dHkh&dHkh ^vij gkml* dgk tkrk gS \ 1 

(A) jkT; lHkk  

(B) yksd lHkk  

(C) fo/kku lHkk  

(D) vke lHkk 

Which Sabha sometimes called as 'Upper Chamber' ? 

(A) Rajya Sabha  

(B) Lok Sabha  

(C) Vidhan Sabha  

(D) Aam Sabha 
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25. Hkkjr ds j{kk cyksa dk lqizhe dekaMj dkSu gksrk gS \ 1 

(A) iz/kku ea=h  

(B) j{kk ea=h 

(C) fons'k ea=h  

(D) jk"Vªifr 

Who is the Supreme Commander of the defence forces of India ? 

(A) Prime Minister  

(B) Defence Minister 

(C) Foreign Minister  

(D) President 

26. Hkkjr dk loksZPp U;k;ky; dgk¡ fLFkr gS \ 1 

(A) fnYyh   

(B) eqacbZ 

(C) dksydkrk  

(D) iapdqyk 

Where is the Supreme Court of India located ? 

(A) Delhi 

(B) Mumbai 

(C) Kolkata  

(D) Panchkula 
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[    HkwxksyHkwxksyHkwxksyHkwxksy    ] 

   [ GEOGRAPHY ] [ M. M. : 25 

27. ddZ js[kk fdl jkT; ls ughaughaughaugha xqtjrh gS \ 1 

(A) jktLFkku  

(B) f=iqjk 

(C) NÙkhlx<+  

(D) mM+hlk 

The tropic of cancer does not pass through : 

(A) Rajasthan  

(B) Tripura 

(C) Chhattisgarh  

(D) Orissa 

28. iwohZ ?kkV dk loksZPp f'k[kj gS %  1 

(A) vukbeqMh  

(B) egsUnzfxjh 

(C) daputqaxk  

(D) [kklh 

The highest peak in the Eastern Ghats is : 

(A) Anamudi  

(B) Mahendragiri 

(C) Kanchanjunga  

(D) Khasi 
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29. Hkkjr dk lcls izkphu Hkw&Hkkx gS % 1 

(A) mÙkjh eSnku  

(B) izk;}hih; iBkj 

(C) fgeky; {ks=  

(D) vjkoyh 

Which is the oldest landmass of India ? 

(A) Northern Plains  

(B) Peninsular Plateau 

(C) Himalayas  

(D) Aravallis 

30. Hkkjr eas ekulwu dk vkxeu fuEufyf[kr eas ls dc gksrk gS \ 1 

(A) ebZ ds izkjEHk eas (B) twu ds izkjEHk eas 

(C) tqykbZ ds izkjEHk esa (D) vxLr ds izkjEHk esa 

Monsoon arrives in India approximately in : 

(A) Early May (B) Early June 

(C) Early July (D) Early August 

31. ^dky cSlk[kh* dk laca/k fdl jkT; ls gS \ 1 

(A) dsjy  (B) egkjk"Vª 

(C) if'pe caxky (D) iatkc 

'Kal Baisakhi' relates to the State : 

(A) Kerala (B) Maharashtra 

(C) West Bengal (D) Punjab 
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32. {ks=Qy ds vk/kkj ij Hkkjr dk lcls cM+k jkT; gS % 1 

(A) iatkc   

(B) xksvk 

(C) f=iqjk   

(D) jktLFkku 

Which is the largest State of India (As regards Area) ? 

(A) Punjab  

(B) Goa 

(C) Tripura  

(D) Rajasthan 

33. fludksuk ds o`{k fdruh o"kkZ okys {ks= esa ik, tkrs gSa \ 1 

(A) 100 lseh ls vf/kd o"kkZ okys  

(B) 70 lseh ls vf/kd o"kkZ okys 

(C) 50 lseh ls vf/kd o"kkZ okys 

(D) 50 lseh ls de o"kkZ okys 

Cinchona trees are found in the areas of rainfall : 

(A) more than 100 cm 

(B) more than 70 cm 

(C) more than 50 cm 

(D) Less than 50 cm 
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34. lqUnjcu thoeaMy fup; dkSu&ls jkT; eas fLFkr gS \ 1 

(A) gfj;k.kk  

(B) if'pe caxky 

(C) dsjy   

(D) rfeyukMq 

Which one of the following States is the Sundarbans Bio-reserve located ? 

(A) Haryana  

(B) West Bengal 

(C) Kerala  

(D) Tamil Nadu 

35. Hkkjr eas tho lqj{kk vf/kfu;e dc ykxw fd;k x;k Fkk \ 1 

(A) 1969 eas  

(B) 1971 eas 

(C) 1972 eas  

(D) 1975 eas 

When was the Wildlife Protection Act was implemented in India ? 

(A) 1969  

(B) 1971 

(C) 1972  

(D) 1975 
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36. dukZVd eas ekulwu&iwoZ o"kkZ dgykrh gS % 1 

(A) vkezo`f"V  

(B) dky cSlk[kh 

(C) yw   

(D) pØokrh 

Pre-monsoon rainfall is called in Karnataka : 

(A) Mango-showers  

(B) Kal Baisakhi 

(C) Loo   

(D) Cyclonic 

37. Lost+ ugj dc [kqyh \ 1 

When was Suez Canal opened ? 

38. y{k}hi eas fLFkr i{kh vHk;kj.; dk uke crkb,A 1 

Name a Bird Sanctuary located in Lakshadweep. 

39. nksnksnksnks jkT;ksa ds uke fy[ksa tgk¡ ekulwuh ou ik, tkrs gSaA 1 

Name two States where Monsoon forests are found ? 

40. Hkkjr dh lcls cM+h [kkjs ikuh dh >hy dk uke fyf[k,A 1 

Name the largest Salt Water Lake of India. 

41. Hkkjr ds e/; ls dkSu&lh v{kka'k js[kk xqtjrh gS \ 1 

Which line of latitude-passes through the centre of India ? 
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42. fgeky; ds rhurhurhurhu izeq[k foHkkxkas ds uke mÙkj ls nf{k.k ds Øe eas crkb,A 2 

Name the three major divisions of the Himalayas from North to South. 

43. tsV /kkjk,¡ D;k gSa rFkk os fdl izdkj Hkkjr dh tyok;q dks izHkkfor djrh gSa \ 3 

What are Jet streams and how do they affect the climate of India ? 

44. Hkkjr ds izeq[k Hkw&vkd`frd foHkkx dkSu&ls gSa \ fgeky; {ks= dh Hkw&vkd`fr dk o.kZu dhft,A 5 

Which are the major physiographic divisions of India ? Describe the 

physiography of Himalayas. 

vFkokvFkokvFkokvFkok    

OR 

m".kdfVca/kh; lnkcgkj ou vkSj i.kZikrh oukas esa vUrj Li"V dhft,A 

Distinguish between Tropical evergreen and Deciduous forests. 

[    vFkZ'kkL=vFkZ'kkL=vFkZ'kkL=vFkZ'kkL=    ] 

   [ ECONOMICS ] [ M. M. : 15 

45. ikyeiqj xk¡o ds fudVre dkSu&lk xk¡o gS \ 1 

(A) jk;xat  

(B) igkM+xat 

(C) 'kkgiqj  

(D) nsgjk 

Which village is nearest to Palampur village ? 

(A) Raiganj  

(B) Paharganj 

(C) Shahpur  

(D) Dehra 
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46. ikyeiqj eas fofHkUu tkfr;kas ds fdrus ifjokj jgrs gSa \ 1 

(A) 400  (B) 450 

(C) 300  (D) 350 

How many families of different castes live in Palampur ? 

(A) 400  (B) 450 

(C) 300  (D) 350 

47. buesa ls dkSu f}rh;d {ks= esa 'kkfey gS \  1 

(A) eqxhZ ikyu  

(B) fofuekZ.k 

(C) ifjogu  

(D) LokLF; 

Which of the following in included in secondary sector ? 

(A) Poultry Farming  

(B) Manufacturing 

(C) Transport  

(D) Health 

48. 2001 eas Hkkjr eas lk{kjrk nj fdrus izfr'kr Fkh \ 1 

(A) 50  (B) 55 

(C) 60  (D) 65 

What was the percentage of literacy rate in 2001 in India ? 

(A) 50  (B) 55 

(C) 60  (D) 65 
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49. iz/kkuea=h jkst+xkj ;kstuk dc vkjEHk gqbZ \ 1 

(A) 1993 eas (B) 2000 eas 

(C) 2004 eas (D) 2006 eas 

When was Prime Minister Rozgar Yojana introduced ? 

(A) 1993 (B) 2000 

(C) 2004 (D) 2006 

50. ikyeiqj eas [ksfrgj Jfedksa dh etnwjh U;wure etnwjh ls de D;kas gS \ 2 

Why are the wages for farm labourers in Palampur less than minimum wages ? 

51. vkfFkZd vkSj xSj&vkfFkZd fØ;kvksa eas D;k vUrj gS \ 3 

What is the difference between Economic activities and Non-economic 

activities ? 

52. Hkkjr esa fu/kZurk js[kk dk vkdyu dSls fd;k tkrk gS \ o.kZu dhft,A 5 

How the poverty line is estimated in India ? Describe. 

 
vFkokvFkokvFkokvFkok    

OR 

fu/kZurk mUewyu dh orZeku ljdkjh uhfr;ksa dh ppkZ dhft,A 

Describe current government policies of poverty alleviation. 

S 
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